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This paper is mainly on the relationship between knowledge of the HSBC customers and HSBC service. I have carried out my three month internship on HSBC customer services. To be more specific, I was in charge of the ATM Cards, PINs, Credit Cards, Bonds delivery but obviously under the supervision of the respective officers. I was in charge of other tasks as well but I have focused to write the paper on topics explained below. In this short period of time I came across several interesting cases which fascinated me to write my paper on these cases. Hence, this paper basically comprises of few case studies with groups of customers who fall under respective categories fill out questionnaires. The cases are of course interrelated and will eventually show the relationship between customer satisfaction with their level of knowledge about what is to be served or what they should expect to be served. This paper with the case studies depicting different scenarios will have graphs, tables, and charts in order to provide the reader with ease of understanding. The conclusion will be based on data, correlation, regression, and other outputs.

· ATM PIN
CASE 1

A customer receives an envelope that has been mailed to him/her from HSBC which has the ATM Card and few papers with instructions. He/She comes to the bank with the invoice slip which he/she finds in the envelope in order to collect the ATM PIN. But he/she did not read the invoice where it has been mentioned that the PIN will remain with the bank for 1 month since the date that has been mentioned in the paper. After this one month, the PIN will be destroyed. Unfortunately, he/she comes after one month and finds out that the PIN has been destroyed. Now, he/she has to issue a request for duplicate PIN for which the bank charges TK 115 and I make him fill out my questionnaire on customer survey.

CASE 2

Another customer receives an envelope that has been mailed to him/her from HSBC which has the ATM Card and few papers with instructions. This customer reads all the instructions and has been well informed. He/she sees that by the time he/she came to the bank, 1 month has already past since the date mentioned in the invoice (the issue date of the PIN). He/she asks what needs to be done next in order to receive his PIN. I give him/her a form to fill for a duplicate PIN which would charge TK 115. With that form I give him/her my questionnaire on customer survey as well.

· PHONE SERVICE

CASE 1

A customer calls up and complains that he/she did not receive the ATM replacement card. I noted down his/her account number and put him on hold and went to a customer service officer and asked him to check the HSBC’s computer information system for the instruction which the customer filled out, in shorter words, check the system whether the customer asked the card to be mailed to his/her corresponding address on the replacement card form or if he/she would collect it from the bank (these instructions are updated in the system the bank uses). I find out that the instruction was written that the card was supposed to be collected from the bank and thus, the replacement card was with us. I asked for some of his/her time and verbally asked questions from my customer survey questionnaire and filled out the answers he/she gave me.

CASE 2

Another customer calls up and queries about his/her replacement card. The customer asks if the card is ready or not and also adds if the card will be mailed to the address or if the customer has to come to the bank to collect it. I ask and note down the customers’ account number and put him on hold and went to one of our officers as usual and inquire. I came back and let him know that the card is ready and that he can come and pick it up. I ask for some of his/her time and ask the questions out of the survey.

sample Customer Survey Questionnaire

Kindly fill up the questionnaire. The answers will be kept confidential. Your honest judgment will be highly appreciated.

1. How long have you been banking with HSBC?

     [image: image49.png] Less than a year          1-3 Years              4-6 Years          7-9 Years             > 10 Years                                

2. Do you have accounts with other banks?            Yes                            No                                                             

3. If yes, which other bank(s) do you deal with or have accounts with?

     SCB          BRAC  Bank      Dutch-Bangla Bank          State Bank of India         Others                                         

4. What do you think about reading the instructions provided by the bank?
Very Important
1 
 2  
3  
4  
5
I can do without reading
5. I read the instructions:   Very well    1      2      3      4     5   Not at all
6. How frequent do you go to HSBC? 

a. Quarterly      b.Once a year        c.Twice a year        d.Once a month      e.Every week

7. Is your account an employee account with HSBC?       Yes                            No

8. How would you rate customer service of HSBC on a scale of 1 to 5?
Excellent
1
2
3
4
5
Worst
9. What is(are) the type(s) of your account(s) with HSBC? 

a. Local Currency Current Account

b. Local Currency Savings Account

c. Time Deposit Account

d. Company Account

e. Foreign Currency Current Account

f. Foreign Currency Savings Account

g. Others 

10. What is the average amount of Bangladeshi Taka you maintain in your account(s)?

< 1,000          1,000 to 5,000         5,001 to 50,000        50,001 to 200,000         >200,001

11. Do you use ATM Card?       Yes                            No

12. How many times do you use your ATM card?             

      Quarterly        Once a year         Twice a year          Once in every month         Every week

13. To what extent do you have problems with the location of the ATM machines?

Very much 
1
2
3
4
5 
Not at all
Please rate each of the following traits amongst the HSBC Customer Service Employees, 1 being the strongest and 5 being the weakest:
	Traits
	Ranks

	14. Knowledge
	1 
 2  
3  
4  
5

	15. Patience
	1 
 2  
3  
4  
5

	16. Oral Communication Skills
	1 
 2  
3  
4  
5

	17. Affability / Friendliness
	1 
 2  
3  
4  
5

	18. Situation Adaptability
	1 
 2  
3  
4  
5


19. To what extent do you have problems with the number of the ATM machines?

Very much 
1
2
3
4
5 
Not at all
20. How often are you annoyed with the ATM machine services?

Very Often 
1
2
3
4
5 
Not at all
21. Do you use credit card?       Yes                            No

22. If yes, how many times do you use your Credit card?             

Quarterly         Once a year         Twice a year          Once in every month            Every week

23. How often are you annoyed with the customer service employees at HSBC?

Very Often 
1
2
3
4
5 
Not at all
Customer Satisfaction in different dimensions (1 being strongly agree, and 5 being strongly disagree). Customer service employees               
	24. Are punctual
	1       2       3      4      5

	25. Show sincere interest for your problem
	1       2       3      4      5

	26. Perform the right service at the first time
	1       2       3      4      5

	27. Keep you informed about the services
	1       2       3      4      5

	28. Give prompt services
	1       2       3      4      5

	29. Are always willing to help
	1       2       3      4      5

	30. Are never too busy to respond to your request
	1       2       3      4      5

	31. Behavior inspires confidence in you
	1       2       3      4      5

	32.  Consistently courteous with you
	1       2       3      4      5

	33. Give individual attention
	1       2       3      4      5

	34. Are neat and clean
	1       2       3      4      5

	35. Make you feel safe in your transactions
	1       2       3      4      5


· Personal Information

Gender :             Male                                      Female

Age        19-28                   29-38                39-48              49-58                   59 and above

Marital Status                 Married              Single

Your Profession               Student         Businessman            Employee            

Housewife


Others

Educational Level         SSC Level
    HSC Level
     Under Graduate


 Post Graduate  
      

                 Others

Where do you stay?      Banani          Dhanmondi          Uttara          Gulshan  

 Others (Please Specify)


Thank you!! You’ve been a great help (
Graphs and analyses
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Figure 1.   Gender Distribution of the HSBC Customers Who Were Surveyed

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Female
	14
	46.7
	46.7
	46.7

	 
	Male
	16
	53.3
	53.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 1.  Gender Distribution of the HSBC Customers Who Were Surveyed

I surveyed 30 customers of which 46.7% were females and 53.3% were males. This can be explained through various spheres. Number one, being that there has been an increasing number of women literacy. More women are now found in the work field with their male co-workers. Hence, they need banking facilities. 
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Figure 2.   Age Distribution of the Customers

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	19-28
	8
	26.7
	26.7
	26.7

	 
	29-38
	13
	43.3
	43.3
	70.0

	 
	39-48
	5
	16.7
	16.7
	86.7

	 
	49-58
	2
	6.7
	6.7
	93.3

	 
	>59
	2
	6.7
	6.7
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 2.  Age Distribution of the Customers
Majority of the customers I surveyed fell in the age group of 29 to 38 years. Next were from 19 to 28 years old, the rest being insignificant. This can portray many things of which is younger customers tend to bank more than the elder ones.
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Figure 3.   Frequency Distribution of the Marital Status
	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Married
	16
	53.3
	53.3
	53.3

	 
	Single
	14
	46.7
	46.7
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 3.  Frequency Distribution of the Marital Status
There isn’t much difference between the numbers of married customers and unmarried ones. This can be explained as the trend that people tend to get married at a much later age in the recent times.
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Figure 4. Distribution of Profession of the Customers
	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Businessman
	6
	20.0
	20.0
	20.0

	 
	Employee
	20
	66.7
	66.7
	86.7

	 
	Housewife
	2
	6.7
	6.7
	93.3

	 
	Student
	2
	6.7
	6.7
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 4. Distribution of Profession of the Customers
As we can see that majority of the customers fall under the category of employees and businessmen compared to the unemployed category (students and housewives). This makes sense as it is evident that banking is more important for those who are engaged in the daily transactions more.
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Figure 5. Education Level of the Customers
	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Postgraduate
	14
	46.7
	46.7
	46.7

	 
	Undergraduate
	16
	53.3
	53.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 5.  Education Level of the Customers
The difference is not worth while though, but it should be mentioned that in Bangladesh HSBC, the trend is that the customers are seen to have undergraduate degrees compared to postgraduate degrees. This also confirms that none of the customers I surveyed are illiterate or educated of below standards.
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Table 6.  Distribution of the Residence of the Customers
	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Banani
	8
	26.7
	26.7
	26.7

	 
	Dhanmondi
	4
	13.3
	13.3
	40.0

	 
	Gulshan
	11
	36.7
	36.7
	76.7

	 
	Others
	3
	10.0
	10.0
	86.7

	 
	Uttara
	4
	13.3
	13.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 6.  Distribution of the Residence of the Customers
Majority of the customers stay in Gulshan and Banani. This can be explained as such that the survey was conducted in the Gulshan Branch of HSBC. Since, most of the customers of that branch come from that area; it is evident that this will be the result.
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Figure 7. Number of Years with HSBC

	 
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	<1
	4
	13.3
	13.3
	13.3

	 
	1-3
	14
	46.7
	46.7
	60.0

	 
	4-6
	8
	26.7
	26.7
	86.7

	 
	7-9
	4
	13.3
	13.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 7.  Distribution of the Number of Years the Customers are with HSBC

I thought the number of years a customer banks in HSBC might reveal or relate with a lot of the other variables in the questionnaire. It is seen that majority of the customers have been banking with HSBC for 1-3 years and the next in the table is 4 to 6 years. It is same amount of customers less than one year and from 7-9 years. There can be several explanations for this. 
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Figure 8.  If the customer maintains accounts with other banks

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Yes
	18
	60.0
	60.0
	60.0

	 
	No
	12
	40.0
	40.0
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 8.  Frequency distribution of the customer if they maintain accounts with other banks

This is another important component for the base of customer knowledge. It can be assumed that if customers have accounts with other banks, they are likely to be well informed about the current services available in the market at their due prices with benefits. 
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Figure 9. Customers Maintain Accounts With Which Other Banks

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	SCB
	9
	30.0
	50.0
	50.0

	 
	BRAC
	4
	13.3
	22.2
	72.2

	 
	DBBL
	3
	10.0
	16.7
	88.9

	 
	Others
	2
	6.7
	11.1
	100.0

	 
	Total
	18
	60.0
	100.0
	 

	Missing
	System
	12
	40.0
	 
	 

	Total
	30
	100.0
	 
	 


Table 9.  Customer Maintain Accounts With Which Other Banks
Customers who maintain accounts with other banks mostly bank with SCB. The rest insignificant ones bank with BRAC and DBBL. This shows a rising trend of the Bangladeshi investors and borrowers to invest and save in multinational banks. This can result due to the vulnerable political commotion in the country, social prestige, etc. This can also pose a fierce competition amongst the two big giants. 
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Figure 10.  What The Customers Think About Reading Instructions

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Very Important
	4
	13.3
	13.3
	13.3

	 
	Moderately Important
	13
	43.3
	43.3
	56.7

	 
	Not Sure
	7
	23.3
	23.3
	80.0

	 
	Moderately Less Important
	5
	16.7
	16.7
	96.7

	 
	I dont need to
	1
	3.3
	3.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 10.   What The Customers Think About Reading Instructions

Majority of the customers interviewed agree that it is moderately important to read instructions provided by the bank. Then comes the ‘Not Sure’. But a healthy portion of the customers also claims that they feel it’s moderately less important to read the instructions and they can almost do without reading them! This attitude can be explained by the poor reading habits of the Bengalis. Much of the education system is to be blamed for this. The typical Bengali Medium education system discourages reading and unfortunately encourages memorizing. This highly dampens the spirit of creativity and results as such.
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Figure 11.  How Well Customers Read Instructions Provided by HSBC

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Very well
	8
	26.7
	26.7
	26.7

	 
	For the sake of reading
	6
	20.0
	20.0
	46.7

	 
	At times
	5
	16.7
	16.7
	63.3

	 
	Very often
	11
	36.7
	36.7
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 11.  How Well Customers Read Instructions Provided by HSBC

I put this question in order to verify if the customers comply with their answers in the question 10. And it worked just as I predicted. Majority of the customers don’t read instructions that often. During my internship term, I found plenty of customers who ran to the bank without properly reading the instructions and later on complained if we told them that for the service they wanted, they had to go elsewhere. This dissatisfaction would not have been as much if the instructions were read.
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Figure 12.  Percentage of Employee Accounts Amongst The Customers

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Yes
	12
	40.0
	40.0
	40.0

	 
	No
	18
	60.0
	60.0
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 12.  Frequencies of Employee Accounts Amongst the Customers

Many companies pay their salary through banks. HSBC also has the option and name the accounts as employee accounts. When the employee changes the job, she/he can just change the address and maintain the same account with HSBC. Around 40% of the customers I surveyed were employee accounts.
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Figure 13.  Frequency of Visits to HSBC

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Quarterly
	7
	23.3
	23.3
	23.3

	 
	Once a year
	2
	6.7
	6.7
	30.0

	 
	Twice a year
	4
	13.3
	13.3
	43.3

	 
	Once a month
	17
	56.7
	56.7
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 13.  Frequency of Visits to HSBC
I asked the customers how frequently they visited the bank. Most of them regularly visit the bank in a monthly basis. This indicates that they come into contact with the services frequently.
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Figure 14.  Customer Rating Services of HSBC

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Excellent
	4
	13.3
	13.3
	13.3

	 
	Good
	19
	63.3
	63.3
	76.7

	 
	Neither good nor bad
	7
	23.3
	23.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 14. Frequency Distribution of Customer Ratings on HSBC's Services

This question directly asks how the customers would rate HSBC’s services. Maximum customers agreed that they think the service of HSBC is good. Although there are a significant number of customers saying that they are not sure and think the service is neither good nor bad.
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Figure 15.  Type of Accounts Customer Maintains in HSBC

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Local Currency Current Account
	5
	16.7
	16.7
	16.7

	 
	Local Currency Savings Account
	18
	60.0
	60.0
	76.7

	 
	Company Account
	1
	3.3
	3.3
	80.0

	 
	Foreign Currency Current Account
	6
	20.0
	20.0
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 15.  Type of Accounts Customers Maintained in HSBC
The type of account most popular in HSBC is Local currency savings account. Next, nearly one third of the Local currency savings account is the current account (both local and foreign currency ones). Company account also accounts in this table but it grabs only a small part of the pie.
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Figure 16. Amount Maintained in the Accounts

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	1000-5000
	3
	10.0
	10.0
	10.0

	 
	5001-50000
	9
	30.0
	30.0
	40.0

	 
	50001-200000
	9
	30.0
	30.0
	70.0

	 
	>200001
	9
	30.0
	30.0
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 16.  Amount Maintained in the Accounts
This question is very crucial as well in determining which customers are more satisfied. I kept this question in order to find relation with other variables and draw conclusions. It can been seen that around 90% of the customers surveyed keeps from BDT 5001.00 to over 200,000.00 on an average. Only 10 percent maintains from BDT 1000.00 to 5000.00.
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Figure 17.  ATM Card Used by the Customers

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Yes
	29
	96.7
	96.7
	96.7

	 
	No
	1
	3.3
	3.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 17.  ATM Card Used by the Customers
Almost 97% of the customers maintain ATM Card with HSBC. This can tell a little bit about the recent trend towards Bangladeshi Fast Life. The movement towards modern living leads to use ATM Cards and move away from traditional banking. The faster the country will adopt the fruits of modernization the faster the standard of living will increase leading to a rapid economic growth.
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Figure 18. How Frequent the Card is Used

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	 
	1
	3.3
	3.3
	3.3

	 
	Quarterly
	4
	13.3
	13.3
	16.7

	 
	Twice a year
	1
	3.3
	3.3
	20.0

	 
	Once a month
	4
	13.3
	13.3
	33.3

	 
	Every week
	20
	66.7
	66.7
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 18. How Frequent the Card is Used
Only querying about the ATM card if used or not really does not give much of a meaning. It is up to the frequency of the card used that will help open the window and give meaning to it. From this question I can be seen that almost all the customers use the card o a weekly basis. This can reflect that a huge portion of the services consumed by the customers fall under ATM. Faults in the machines can be a part of the dissatisfaction amongst the consumers.
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Figure 19.  Extent to Which There is a Problem With ATM Location

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Healthy amount
	8
	26.7
	27.6
	27.6

	 
	Bearable
	2
	6.7
	6.9
	34.5

	 
	Not that much
	13
	43.3
	44.8
	79.3

	 
	Not at all!
	6
	20.0
	20.7
	100.0

	 
	Total
	29
	96.7
	100.0
	 

	Missing
	System
	1
	3.3
	 
	 

	Total
	30
	100.0
	 
	 


Table 19.  Extent to Which There is a Problem With ATM Location
Majority answers that they do not face problems regarding the location of ATMs. This can also be explained numerously. There can be some errors, since I collected data from only Gulshan Branch and disregarded customers from other six branches/locations. Customers who come to Gulshan branch may be content with the location since they travel in Gulshan and Banani area for their work, and there are ATMs in both Gulshan and Banani. On the other hand, those who work in Mirpur can face severe problems due to lack of a single ATM in Mirpur area. Right after the 43.3% saying not that much problem is faced, 26.7% says they have a healthy amount of problem. 
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Figure 20.  Extent to Which There is Problem With Number of ATMs

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Very Much
	2
	6.7
	6.9
	6.9

	 
	Healthy amount
	2
	6.7
	6.9
	13.8

	 
	Bearable
	7
	23.3
	24.1
	37.9

	 
	Not that much
	15
	50.0
	51.7
	89.7

	 
	Not at all!
	3
	10.0
	10.3
	100.0

	 
	Total
	29
	96.7
	100.0
	 

	Missing
	System
	1
	3.3
	 
	 

	Total
	30
	100.0
	 
	 


Table 20.  Extent to Which There is Problem With Number of ATMs
This question is different from the previous one in the dimension that the problem faced in this one is regarding the number of ATMs. Compared to the response of the previous question, customers are more satisfied with the number of ATMs. This can also be addressed with the similar error faced before (customer base is limited in the sense that only Gulshan Branch customers were surveyed).
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Figure 21.  Customers Rating HSBC Employees in Terms of Knowledge of the Subject Matter

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Strongest
	5
	16.7
	16.7
	16.7

	 
	Very Strong
	16
	53.3
	53.3
	70.0

	 
	Moderately Strong
	9
	30.0
	30.0
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 21.  Customers Rating HSBC Employees in Terms of Knowledge of the Subject Matter

This is a vital criterion in determining customer satisfaction level. This points out what customers think about the HSBC employees’ knowledge level about the subject matter they deal with. Customers rated this very generously. Almost all agreed strongly that the employees are well qualified for the job they do.
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Figure 22.  Patience of HSBC Customer Service (CS) Employees

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Very Strong
	20
	66.7
	66.7
	66.7

	 
	Moderately Strong
	10
	33.3
	33.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 22.  Patience of HSBC Customer Service (CS) Employees

Patience is another important dynamics of customer services. With customers, it is extremely pivotal to deal with patience. Customers have also been very generous while rating patience of the employees serving them. No one rated the customer service employees otherwise. During my internship, I encountered numerous cases where I was pushed to the limit! But tried to calm myself and worked with patience. And later on, some customers did come and apologize later. This in turn enhances the image of the organization.
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Figure 23. Oral Communication Skills of the CS Employees

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Strongest
	7
	23.3
	23.3
	23.3

	 
	Very Strong
	11
	36.7
	36.7
	60.0

	 
	Moderately Strong
	8
	26.7
	26.7
	86.7

	 
	Very Weak
	4
	13.3
	13.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 23. Oral Communication Skills of the CS Employees
Oral communication skill determines a lot about the customer satisfaction level since verbal medium is used to present. An organization can be perfect but if it employs people who can not properly verse with the customers, may God help the organization! In HSBC, customers rated oral communication skills of the customer service employees very well. But it has still scope to perfect this trait.
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Figure 24.  Affability of CS Employees

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Strongest
	9
	30.0
	30.0
	30.0

	 
	Very Strong
	13
	43.3
	43.3
	73.3

	 
	Moderately Strong
	8
	26.7
	26.7
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 24.  Affability of CS Employees
Affability is an essential part of dealing with customers from a wide group of people. People coming from different background reacts differently. But universally it is found that it is hard to behave bad with a friendly person or a cheerful one. This key point is very positive as well amongst the customers when asked to rate.
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Figure 25.  Situation Adaptability of CS Employees

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Strongest
	1
	3.3
	3.3
	3.3

	 
	Very Strong
	18
	60.0
	60.0
	63.3

	 
	Moderately Strong
	9
	30.0
	30.0
	93.3

	 
	Very Weak
	2
	6.7
	6.7
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 25. Situation Adaptability of CS Employees
Compared to previous dimensions, situation adaptability is scrutinized heavily. Although majority of the customers filled up that the trait is very strong amongst the customer service employees, but there is a small percentage saying there is a scope for poor situation adaptability. During my internship period, there was customer whose ATM card was mailed from Singapore. I tore his Envelope in order to get a copy of his received acknowledgement, but I did not do that in front of him. Later when I gave him the acknowledgement to sign, he was furious and was shouting at the top of his lungs. I was so embarrassed that I did not know what to do. I was poor in adapting the situation in that case.
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Figure 26.  Punctuality of CS Employees

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Strongly Agree
	8
	26.7
	26.7
	26.7

	 
	Moderately Agree
	15
	50.0
	50.0
	76.7

	 
	Neither agree nor Disagree
	6
	20.0
	20.0
	96.7

	 
	Moderately Disagree
	1
	3.3
	3.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 26.  Punctuality of CS Employees
Although majority of the customers voted for better performance of the HSBC customer service employees, but few cases show that there is a room for improvement for the employees in terms of punctuality. With fast paced lifestyle, time is a priceless commodity whose value is appreciating in a daily basis. Hence, care should be taken when it comes to killing customer’s time.
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Figure 27.  Interest Shown by CS Employees to Customer Queries

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Strongly Agree
	13
	43.3
	43.3
	43.3

	 
	Moderately Agree
	15
	50.0
	50.0
	93.3

	 
	Neither agree nor Disagree
	2
	6.7
	6.7
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 27.  Interest Shown by CS Employees to Customer Queries

A space for improvement is also in this trait - interest shown by the customer service employees for customer queries. It is an essential role determining customer satisfaction. Customers will not feel safe in their transactions and neither would they want to bank somewhere where they do not feel wanted. Hence, measures should be taken in order to make the customers feel that they are important. The employees are interested in helping their queries.
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Figure 28. The Extent to Which CS Employees perform the Right Service at the First Time

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Strongly Agree
	6
	20.0
	20.0
	20.0

	 
	Moderately Agree
	13
	43.3
	43.3
	63.3

	 
	Neither agree nor Disagree
	7
	23.3
	23.3
	86.7

	 
	Moderately Disagree
	4
	13.3
	13.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 28. The Extent to Which CS Employees perform the Right Service at the First Time

In every service it is extremely important to perform the right service at the first time. This can be explained through many dimensions. To begin with, performing the service right the first time eliminates the chance of making errors the first time. Customers are not irritated. Secondly, it is less time consuming. Less time is needed to spend after each customer.
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Figure 29.  CS Employees Keeps the Customers Informed to What Extent

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Strongly Agree
	7
	23.3
	23.3
	23.3

	 
	Moderately Agree
	8
	26.7
	26.7
	50.0

	 
	Neither agree nor Disagree
	12
	40.0
	40.0
	90.0

	 
	Moderately Disagree
	3
	10.0
	10.0
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 29.  CS Employees Keeps the Customers Informed to What Extent

One of the major tasks of the customer service employees is to sell their products. HSBC is none the less different in this case. It is seen that majority customers are confused about this trait. This leaves a room for improvement. The service employees can sell their products once they inform the customers. This can benefit all the three parties engaged in the business (customers, employees, and the organization). Customers may get a better deal out of the new products, employees performance can be appraised better for increments &/or promotions, lastly but not the least HSBC can widen its customer base and sell more products by keeping the customers informed.  
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Figure 30.  The Extent to Which CS Employees are Willing to Help

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Strongly Agree
	10
	33.3
	33.3
	33.3

	 
	Moderately Agree
	16
	53.3
	53.3
	86.7

	 
	Moderately Disagree
	4
	13.3
	13.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 30.  The Extent to Which CS Employees are Willing to Help

After quite some time the customers have rated the customer service employees very modestly in terms of willingness to help the customers. This trait talks a lot about the employees. To start with, they must be in a healthy environment. Next, it can be told that the organization is customer sensitive for which it maintains an employee base with willingness to attend customers. 
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Figure 31. CS Employees if too Busy to Respond to Queries

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Strongly Agree
	4
	13.3
	13.3
	13.3

	 
	Moderately Agree
	10
	33.3
	33.3
	46.7

	 
	Neither agree nor Disagree
	10
	33.3
	33.3
	80.0

	 
	Moderately Disagree
	6
	20.0
	20.0
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 31. CS Employees if too Busy to Respond to Queries
Right after the question of willingness to help, I placed this question to find out if there are any discrepancies. Customers rated very well in the previous question regarding willingness, but here, although majority agrees that the employees are not too busy to respond to their queries, there are significant cases where customers moderately disagrees to the statement. This can be explained as such that the branch is over crowded and may be more employees are required to attend the customers.
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Figure 32.  CS Employees If Consistently Courteous With the Customers

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Strongly Agree
	17
	56.7
	56.7
	56.7

	 
	Moderately Agree
	13
	43.3
	43.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 32.  CS Employees If Consistently Courteous With the Customers

Customers agree gaily that customer service employees are consistently courteous with the customers. This is a key factor in determining the satisfaction level of the customers. They would not like to deal with CS employees who are obstinate. 
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Figure 33.  CS Employees If Neat

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Strongly Agree
	22
	73.3
	73.3
	73.3

	 
	Moderately Agree
	8
	26.7
	26.7
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 33.  CS Employees If Neat
We judge people through their appearances even though we don’t intend to at times. Neatness is an extremely important psychological factor in determining customer satisfaction. I saw that HSBC has uniforms for both the male and female employees. There is no written rule as to how neat & clean the employees should be, but in my term, I found the employees to be neat on average and so did most of the customers I surveyed.
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Figure 34. How Annoyed Customers are With ATM Service

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Very Much
	3
	10.0
	10.3
	10.3

	 
	Healthy amount
	2
	6.7
	6.9
	17.2

	 
	Bearable
	4
	13.3
	13.8
	31.0

	 
	Not that much
	20
	66.7
	69.0
	100.0

	 
	Total
	29
	96.7
	100.0
	 

	Missing
	System
	1
	3.3
	 
	 

	Total
	30
	100.0
	 
	 


Table 34. How Annoyed Customers are With ATM Service

Since ATM covers a big portion of the services offered by HSBC, dissatisfaction in the machines poses a big threat to the image of the bank. Customers when asked how annoyed they are with ATM services answers ‘Not that much’ as majority. But significant amount also answers that they are annoyed with the machine. I also faced almost regular cases regarding ATM failures. One of the things the customer gets annoyed is the few seconds the machine waits for the PIN after which it retains the card. The customers have to wait at least for a day to get back their cards.
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Figure 35.  Credit Card Used

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Yes
	7
	23.3
	23.3
	23.3

	 
	No
	23
	76.7
	76.7
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 35.  Credit Card Used
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Figure 36.  Frequency of credit Card Used
	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Once a year
	23
	76.7
	76.7
	76.7

	 
	Quarterly
	2
	6.7
	6.7
	83.3

	 
	Twice a year
	1
	3.3
	3.3
	86.7

	 
	Once a month
	4
	13.3
	13.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Figure 36.  Frequency of credit Card Used
Only 23% of the customer I surveyed uses credit cards. HSBC has affiliation with Prime Bank when it comes to credit card. Figure 36 depicts that most of the people who use credit cards uses it very little, like once a year. This can be explained with the limited usage of credit cards in the country. But much to modernization, a change in the pattern is seen to have followed until very recently. 
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Figure 37.  How often annoyed with HSBC CS

	
	Frequency
	Percent
	Valid Percent
	Cumulative Percent

	Valid
	Healthy amount
	3
	10.0
	10.0
	10.0

	 
	Bearable
	2
	6.7
	6.7
	16.7

	 
	Not that much
	18
	60.0
	60.0
	76.7

	 
	Not at all!
	7
	23.3
	23.3
	100.0

	 
	Total
	30
	100.0
	100.0
	 


Table 37.  How often annoyed with HSBC CS
I placed this question in the middle to verify the question I asked in the beginning about the Customer Service of HSBC. Majority of the customers went for ‘not that much’. Next in the list is ‘not at all’. Both are good news for the organization, but concern should be there to improve. A room for improvement is strongly present regarding customer services.
Cross Tables
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Cross tabulation 2. Read instructions * Profession 
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Cross tabulation 3. Read instructions * Education Level
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Cross tabulation 4.  Read instructions *Customer’s Age 
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Cross tabulation 5.  How often annoyed with HSBC CS * Average amount of BDT maintained in HSBC 
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Cross tabulation 6. Number of years with HSBC * Rate Customer Service of HSBC 


Number of years with HSBC * Rate Customer Service of HSBC Crosstabulation

	 
	 
	Rate Customer Service of HSBC
	Total

	 
	 
	Excellent
	Good
	Neither good nor bad
	 

	Number of years with HSBC
	<1
	Count
	1
	3
	0
	4

	 
	 
	% within Number of years with HSBC
	25.0%
	75.0%
	.0%
	100.0%

	 
	1-3
	Count
	0
	12
	2
	14

	 
	 
	% within Number of years with HSBC
	.0%
	85.7%
	14.3%
	100.0%

	 
	4-6
	Count
	2
	3
	0
	5

	 
	 
	% within Number of years with HSBC
	40.0%
	60.0%
	.0%
	100.0%

	 
	7-9
	Count
	1
	1
	1
	3

	 
	 
	% within Number of years with HSBC
	33.3%
	33.3%
	33.3%
	100.0%

	 
	
	Count
	4
	19
	7
	30

	Total
	%
	13.3%
	63.3%
	23.3%
	100.0%



Chi-Square Tests

	 
	Value
	df
	Asymp. Sig. (2-sided)

	Pearson Chi-Square
	23.333(a)
	8
	.003

	Likelihood Ratio
	24.546
	8
	.002

	N of Valid Cases
	30
	 
	 


a  14 cells (93.3%) have expected count less than 5. The minimum expected count is .40.

Cross tabulation Analyses

According to the figures in cross tabulation 1, it can be seen that those who read instructions are more satisfied than those who rarely do. This can help to correlate because the chi-square test helped me be sure that there exists some relationship between the variables. I am sure because the assume value is less than 0.05. In the second cross table, it is found that those who are employees and have accounts in HSBC tend to read instructions way more than those of other profession like businessman, students, housewives and others. This is also made sure by the chi-square test. I undertook many variables with which I tested through cross tables, but I considered only those which the passed the chi-square test. There is a relationship between reading instructions and education level of the customers according to the chi-square test, but the percentage in the table does not show much difference between those who are undergraduate and those who are postgraduates. The next cross table is regarding reading the instructions with their respective ages. The result is surprising, since the younger customers tend to read much more than the elder ones. The age ranges from mainly 29-38 years. That whose age ranges from 39-48 mostly reads instructions for the sake of reading. In cross table 5, it can be clearly derived that those who maintain limited amounts with HSBC on an average basis tend to be more annoyed with the Customer Service (CS) compared to those who maintain greater amounts. The table depicts that majority customers with amount BDT1,000.00 to 5,000.00 has a healthy amount of problems with the CS whereas most customers with more than 50,000.00 BDT seem to have less problem or none at all. The sixth cross table portrays the relationship between the numbers of years a customer has been banking with HSBC with rating the CS of HSBC. The table represents that customers who banked for 4-6 years have rated HSBC as either ‘Excellent’ or ‘Good’. Although it can be said that the trend is that higher the number of years that a customer banks, better is the ranking for CS. But a technical problem persists; customers who’ve been banking for more than 7 years tend to rate the CS equal amounts of ‘excellent’, ‘Good’ and ‘Bad’. So it is not proper to state that pattern. These are the few insights taken from the tables.

regression analysis

introduction:
Regression analysis is a modeling technique that identifies, quantifies, and describes the relationship between at least two variables, which depend on one another because of an underlying theoretical reason. In a multiple regressions, we have several independent variables, which are used to predict the dependent variable. 

Statement of the hypothesis:

It is hypothesized that the level of customer satisfaction about the services provided by HSBC is positively related with the level of being informed about its service package of the customers. In particular, the customers who are more informed about the services tend to be more satisfied than those who are less informed. In addition, it is also hypothesized that the employed customers (who are working in any organization) are more satisfied than the unemployed customers (students, housewife etc.).

Description and specification of the model:

The dependant variable of this model is CSI (Customer Satisfaction Index) and the independent variables are CII (Customer Informed Index) and customer’s employment condition, a dummy variable. CSI index (Customer Satisfaction index) includes 8 dimensions of customer’s satisfactions. The independent variable CII (Customer Informed Index) is measured by using 3 critical factors that strongly indicates customers’ degree of being informed of the services provided by HSBC. This model also includes a dummy variable as another independent variable in order to test the relation whether customer’s employment status has any relation. Usually, a dummy variable is a numerical variable used in regression analysis to represent subgroups of the sample in your study. In research design, a dummy variable is often used to distinguish different treatment groups. Dummy variables are useful because they enable to use a single regression equation to represent multiple groups. This means that we don't need to write out separate equation models for each subgroup. The dummy variables act like 'switches' that turn various parameters on and off in an equation. Here, a 0, 1 dummy variable is used where the variable takes the value 1 for employed customer and it takes the value 0 for unemployed customers. However, It is expected CII is positively related with CSI and dummy variable is also expected to be positively related with CSI. More importantly, it is assumed that this two independent variable is expected to be linearly related with the dependent variable, CRI.  
The population multiple regression equation is as follows:

Y= (0 +(1X1 +(2X2 + (
Here,

Y = CSI Index

(0  = intercept of the regression line.

(1 = coefficient of independent variable X1 (CII)
(2 = coefficient of independent variable X2 (Dummy Variable)

X1 = CII. 
X2  = Dummy variable; takes the value 1 for employed customer and it takes the value 0 for unemployed customers. 

· = Random error with the mean 0.


Assumptions of the model:

For this model we are assuming that other variables that has influences on CSI Index as constant. We have assumed some standard clauses to use ordinary least square method, which are known as classical group of assumptions: These are:
· Xi's are fixed or if Xi’s are independent of (i's.             [ i=1,2,…..,n]

· (i's are random variables with mean = 0.                        [ i=1,2,…..,n]
· V ((i)=E [(i -E ((i)]2 = E ((i 2) = (2E is constant.             [ i=1,2,…..,n]
· Ei's are independent of each other.                                 [ i=1,2,…..,n]
· There is no set of nonzero constant Co, C1, …..,Ck such that, C0+C1X1+………..+CkXk = 0. So, X1,…………...XK are linearly independent. 

      [ i=1,2,…..,n]

Data collection:

The data for the regression analysis is collected from the research questionnaire. Each questionnaire contains 42 questions and information obtained from some of the questions has been used to measure different variable of the model. The sample size is 30. The dependent variable Y (CSI) is measured using 8 dimensions of customer’s satisfactions such as customers rating on employees knowledge, patience, oral communication skills, affability, situation adaptability, responds toward customers, sincere interest and employee neatness, these 8 dimensions of customer satisfaction have been assigned with  weights according to their relative importance and thereby the CSI is calculated. The independent variable X1 (CII) is measured using 3 critical factors that strongly indicates customers degree of being informed of the services provided by HSBC such as the time line of customers banking experience with HSBC, the extent to which costumer read the instructions provided by HSBC and frequency of their visit to HSBC. Finally this factor has been assigned with a weight according to their relative importance about customer’s degree of being informed and thereby the CII is calculated. Both the index, CSI and CII is calculated in a way that the upper limit of them is 500 and lower limit is 0. Another independent variable X2 is a Dummy variable where the variable takes the value 1 for employed customer and it takes the value 0 for unemployed customers. (The details of the data collection is given in the Appendix) 

Model Estimation AND INTERPRETATION:
The regression equation is

Y = 331 + 0.234 X1 - 11.5 X2
β0 = 331

β0 is the intercept of the regression line. Here, b0 =331 means if all the independent variable takes the value zero, on an average, the CSI (Customer Satisfaction Index) will be 331. 

β1’s estimate b1 =0.234
Other things remaining the same, if the CII (Customer Informed Index) increases by 1, on an average, the CSI (Customer Satisfaction Index) will go up by an additional 0.234.

Β2’s estimate b5 = -11.5
Other things remaining the same, for employed Customer CSI (Customer Satisfaction Index) is 11.5 lower than unemployed customers. It basically indicates that on an average the less satisfied with the services than the unemployed customers, surprising it is the opposite of the prior expectation.

Co-efficient of determination R2 = 22.5%

R-sq is 22.5% means almost 22.5% of the observed variability in the dependent variables is explained by the independent variables of our regression model. So, this regression equation has a very low explanatory power. However, in cross sectional data R-sq is usually very low. Importantly, A problem of using R2 as an overall measure of the quality of a fitted equation is that when we add more and more variables in a model, even if these variables are irrelevant to the model, it raises the value of R2. So, R2 is not a good indication of the model’s overall quality. Rather the adjusted coefficient of determination should be used for measuring the overall performances of the model. 
Adjusted R2 = 16.8%

R-sq (adj) is the adjusted or corrected co-efficient of determination. R2 (adj) is 16.8% means almost 16.8% of the observed variability in the dependent variables is explained by the independent variables of our regression model.

Hypothesis Testing:

In this section of regression analysis, the methodology of hypothesis testing is used to test a null hypothesis to find out whether the combination of all the variables is useful predictors of the dependant variable. Another tests of hypothesis for partial regression coefficients (That is, H0: (j = 0) are used to determine if a specific independent variable is conditionally important in the multiple regression model. By using the Student’s t statistics and p-value it is concluded whether or not a particular predictor variable is conditionally significant, given the other variables in the regression model. (The following two tables provides the required value for the hypothesis test & interval estimation)

	 
	Coefficients
	Standard Error
	t Stat
	P-value
	Lower 95%
	Upper 95%

	Intercept
	330.71
	27.35
	12.09
	0.00
	274.60
	386.82

	X1
	0.23
	0.08
	2.80
	0.01
	0.06
	0.41

	X2
	-11.50
	17.80
	-0.65
	0.52
	-48.03
	25.02


	ANOVA
	df
	SS
	MS
	F
	Significance F

	Regression
	2
	7928.85
	3964.42
	3.92
	0.031

	Residual
	27
	27253.81
	1009.40
	
	

	Total
	29
	35182.67
	 
	 
	 


Test of Significance for the whole Regression:

First, hypothesis test is to test a null hypothesis to find out whether the combination of two independent variables is useful predictors of the dependant variable. Accepting this hypothesis will conclude that none of the predictor variables regression model is statistically significant and thus it provide no useful information.  

Null Hypothesis Ho: (1= (2= 0

Alternative Hypothesis H1: At least one (j  (0    (j = 1,2,3,4,5 )

Decision Rule: We reject the null hypothesis if 

Fcal >F tab
Or, (SSR/k) / [SSE/(n-k-1)] >F tab

Fcal = 3.92
F tab= FK, n-K-1, α  = F 2, 30-3, 0.05 = F 2, 27, 0.05 = 3.35

Here, F cal >F tab. Therefore, I reject the null hypothesis that all coefficients are zero against the alternative hypothesis at 5% level of significance. The p-value or the smallest significance level at which the null hypothesis can be rejected is 0.031. So, the entire variable as a whole can predict the dependable variable (CSI) and the combined effect of these two variables do improve the model that predicts CSI.

Now, the hypothesis testing for each of the coefficients is done to analyze if individually they have any influence on the dependent variable keeping the other variable constant. 

For the intercept the Hypothesis Testing: (Two sided test)

Null Hypothesis Ho: α = 0

Alternative Hypothesis H1: α ≠ 0

Decision Rule: We reject the null hypothesis if T cal> T tab.

t cal = 12.09

t tab = t n –k-1, α / 2 = t 30 -3, .0.25 = t 27, .0.25 =2.052 

Here t cal is greater than t tab. therefore I fail to reject the null hypothesis against the alternative hypothesis at 5% level of significance with the two-sided test. The p-value or the lowest level of significance at which the null hypothesis can be rejected is 0.00.  

Hypothesis Testing For (1: 
Null Hypothesis Ho: (1 ≤ 0  
Alternative Hypothesis H1: (1 > 0

Decision Rule: We reject the null hypothesis if, t cal> t tab
t cal = (b1-(1) / Sb1 = 2.85
t tab = t n –k-1, α = t 30 -3, .0.5 = t 27, .0.5 = 1.701

Here t cal is greater than t tab. Therefore I reject the null hypothesis against the alternative hypothesis at 5% level of significance. Therefore, the CII is statistically significant predictors of the dependant variable (CSI); and it has a positive relationship with the CSI (Customer Satisfaction Index). However, The p-value or the smallest significance level at which the null hypothesis can be rejected is 0.001
Hypothesis Testing For (2:
Null Hypothesis Ho: (2 ≤ 0  
Alternative Hypothesis H1: (2 > 0

Decision Rule: We reject the null hypothesis if, t cal> t tab
t cal = (b2-(2) / Sb2 = -.65
t tab = t n –k-1, α = t 30 -3, .0.5 = t 27, .0.5 = 1.701

Here t cal is less than t tab. Therefore I fail to reject the null hypothesis against the alternative hypothesis at 5% level of significance. However, the p-value or the smallest significance level at which the null hypothesis can be rejected is 0.52. This indicates that the customer’s employment status is not a statistically significant variable for predicting customer’s satisfaction about the service. 
confidence interval:

Another way of determining whether a specific independent variable is important in the multiple regression models is to find the confidence interval. The 95% confidence intervals for (0, (1, (2, is estimated in the following.

95% confidence interval for (0:

The 95% confidence interval for Y-intercept ((0) ranges from 274.60 to 386.82. Here the 95% confidence interval for (0 does not include 0, and thus I reject the two-tail hypothesis that the intercept coefficient is 0. Based on this confidence interval, it can be conclude that the intercept a statistically significant predictor in the multiple regression model.

95% confidence interval for (1:

The coefficient for the CII has a 95% confidence interval 0.06< (1 <0.41. Here the 95% confidence interval for (1 does not include 0, and thus I reject the two-tail hypothesis that this coefficient is 0. Based on this confidence interval, it can be conclude that X1 (CII) is a statistically significant predictor variable in the multiple regression model. 

95% confidence interval for (2:

The coefficient dummy variable has a 95% confidence interval -48.03< (2 <25.02. As the confidence interval includes 0, and thus I cannot reject the two-tail hypothesis that the intercept is 0. Based on this confidence interval, it can be conclude that the dummy variable (customers employment status) is not a statistically significant predictor variable in the multiple regression model. 

analysis of residual:

The normality plot indicates an approximate linear relationship, thus it is impossible to reject the assumption of normally distributed residuals. 
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The next residual analysis examines the relationship between the residual and the dependent variable (both the observed and predicted value). But, this plot does not provide any clear relationship or any useful information. However, There is no relationship between the residuals and the predicted value, thus the model errors is stable over the range.

Problems with the model:

Before moving to the findings of this regression analysis it is highly recommended to the reader to the aware about some the problems/limitation of this analysis. 

Specification Bias:

Other than the two independent variables included in this model, their may some other variables that are important predictors of CSI (costumer satisfaction Index) which has been omitted. Omitting them from this model causes Speciation bias may be the reason for the poor explaining power of this model. 

Measurement Error:

The calculation of CSI and CII from a qualitative measure to a quantitative measure is somewhat controversial, as the dimensions of each variable are chosen arbitrarily and the weights to each variable is also given arbitrarily. Moreover, there may be some other omitted dimensions that are useful to measure both CSI and CII. Another important limitation is that both the CSI and CII has been measure in a way that they can take the maximum value 500 and the minimum 0. This also limits the acceptance of this analysis to some extent.

FINDINGS:

Hypothesis test of the coefficients of this model indicates that the independent variable CII is significant; where as another independent variable the employment status of employees is not statistically significant. The confidence interval analysis also supports the above findings. Therefore, the findings indicate that the level of customer satisfaction about the services provided by HSBC is positively related with the level of knowledge about its service package by its customers. The hypothesis of this regression analysis that “The customers who are more informed about the services tend to be more satisfied than those who are less informed.” proved by the above findings. However, another hypothesis that the employed customers (who are working in any organization) are more satisfied than the unemployed customers (students, housewife etc.) cannot be proved by our findings.

Conclusion

Apart from all the outputs’ interpretation to put it shortly, I found numerous relationships between the variables I chose in my questionnaire. I do not want to repeat the findings again and hence conclude my paper as such that it has been a pleasure to have done this report under the supervision of Mr. M. Sayeed Alam. Even after all the obstacles and limitations, I am successful in carrying out the regression analysis. There is a lot I have learned from this report which otherwise would have been left unlearned. I truly thank the Faculty Advisor of my Internship, Mr. M. Sayeed Alam, Branch Manager,HSBC, Motijheel Branch, Mr. Md. Saidul Amin, Customer Services Manager Cristopher Raju Gomes and Shaikh Alam, Rifat Akhter, Richard Rudolf Gomes, Saiful Bari  Customer Service Department, HSBC, Motijhee Branchl, to have helped me out of their way. The completion of this report would not have been possible if not for them. 
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;; (Microsoft Win32 Intel 386)  HOOPS 5.00-17 I.M. 3.00-17
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(Color_By_Index "Window" 0)
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;; etchingno update interrupts,use window id=131536")
(Edge_Pattern  "---")
(Edge_Weight 1)
(Face_Pattern "solid")
(Heuristics "no related selection limit")
(Line_Pattern  "---")
(Line_Weight 1)
(Marker_Size 0.421875)
(Marker_Symbol ".")
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(Segment "include" ())
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    (Window_Pattern "clear")
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	  (Segment "legend box" ())
	  (Segment "legend" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (User_Options "viewinfigurecoord=1")
	    (Front ((Segment "symbol1" ())))))))))
      (Segment "object" (
	(Front ((Segment "frame" (
	    (Window_Pattern "clear")
	    (Window -1 1 -1 1)
	    (Front ((Segment "tick" (
		(Front ((Segment "set1" (
		    (Color_By_Index "Face Contrast,Line,Text,Edge" 1)
		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
		    (Line_Pattern  "---")
		    (Line_Weight 1)
		    (Text_Alignment "^*")
		    (Text_Font "name=arial-gdi-vector,size=0.02877 sru")
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		    (Segment "" (
		      (Text -0.572361 -0.653967 0 "-50")))
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		    (Text_Font "name=arial-gdi-vector,size=0.02877 sru")
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		    (Segment "" (
		      (Text -0.719964 0.26817 0 "1")))
		    (Segment "" (
		      (Text -0.719964 2.22033e-16 0 "0")))
		    (Segment "" (
		      (Text -0.719964 -0.26817 0 "-1")))
		    (Segment "" (
		      (Text -0.719964 -0.53634 0 "-2")))
		    (Segment "major" (
		      (Segment "" (
			(Polyline ((-0.679966 0.53634 0) (-0.709964 0.53634 0))
			 )))
		      (Segment "" (
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			 )))
		      (Segment "" (
			(Polyline ((-0.679966 2.22033e-16 0) (-0.709964 
			   2.22033e-16 0)))))
		      (Segment "" (
			(Polyline ((-0.679966 -0.26817 0) (-0.709964 -0.26817 0
			   )))))
		      (Segment "" (
			(Polyline ((-0.679966 -0.53634 0) (-0.709964 -0.53634 0
			   )))))))))))))
	      (Segment "grid" ())
	      (Segment "reference" ())
	      (Segment "axis" (
		(Front ((Segment "set1" (
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		    (Edge_Pattern  "---")
		    (Edge_Weight 1)
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		    (Line_Weight 1)
		    (Text_Alignment "*>")
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		      (Segment "raw" (
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		    (Segment "" (
		      (Polyline ((-0.659967 -0.59997 0) (0.779961 -0.59997 0)))
		      ))))))))))))
	  (Segment "data" (
	    (Window_Pattern "clear")
	    (Window -0.66 0.78 -0.58 0.58)
	    (User_Options "isdata=1,viewinfigurecoord=1")
	    (Front ((Segment "symbol1" (
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		  (Color_By_Index "Marker" 1)
		  (Marker_Size 0.421875)
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		  (User_Options "canbrush=1,brushsetup=0,grouping=0")
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 30)
		    (Marker 0.302326 0.473508 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 29)
		    (Marker 0.0503732 0.262477 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 28)
		    (Marker -0.235665 -0.038357 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 27)
		    (Marker 7.16465e-3 0.2186 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 26)
		    (Marker -0.281086 -0.156172 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 25)
		    (Marker -0.281086 -0.156172 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 24)
		    (Marker 0.14702 0.385054 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 23)
		    (Marker -0.899302 -0.629216 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 22)
		    (Marker 0.669769 0.744318 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 21)
		    (Marker 0.943349 0.943349 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 20)
		    (Marker -0.393183 -0.442228 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 19)
		    (Marker -0.235665 -0.038357 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 18)
		    (Marker -0.349975 -0.308859 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 17)
		    (Marker 0.14702 0.385054 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 16)
		    (Marker -0.899302 -0.629216 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 15)
		    (Marker -0.899302 -0.629216 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 14)
		    (Marker -0.235665 -0.038357 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 13)
		    (Marker -0.235665 -0.038357 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 12)
		    (Marker -0.349975 -0.308859 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 11)
		    (Marker -0.179475 0.116149 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 10)
		    (Marker -0.201968 0.0576184 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 9)
		    (Marker 0.376553 0.543652 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 8)
		    (Marker 0.11111 0.308859 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 7)
		    (Marker -0.179475 0.116149 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 6)
		    (Marker -0.309892 -0.2186 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 5)
		    (Marker -0.943349 -0.943349 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 4)
		    (Marker -0.349975 -0.308859 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 3)
		    (Marker -0.0843376 0.176611 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 2)
		    (Marker 0.438861 0.629216 0)))
		  (Segment "" (
		    (Color_By_Index "Marker" 4)
		    (Marker_Size 0.295312)
		    (Marker_Symbol "@")
		    (User_Value 1)
		    (Marker -0.393183 -0.442228 0)))))))))))))))
      (Segment "labels" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)))
      (Segment "annotation" (
	(Window_Pattern "clear")
	(Window -1 1 -1 1)
	(Front ((Segment "text1" (
	    (Color_By_Index "Text" 1)
	    (Text_Alignment "^*")
	    (Text_Font "name=arial-gdi-vector,size=0.04401 sru")
	    (Segment "" (
	      (Text 0 0.899886 0 "Normal Probability Plot of the Residuals"))))
	   )
	  (Segment "text2" (
	    (Color_By_Index "Text" 1)
	    (Text_Alignment "^*")
	    (Text_Font "name=arial-gdi-vector,size=0.03047 sru")
	    (Segment "" (
	      (Text 0 0.77117 0 "(response is Y)")))))))))))))
  (Segment "annotation" (
    (Window_Pattern "clear")
    (Window -1 1 -1 1)
    (User_Options "toplayer=1")))))



